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Sudbury Impact

An asteroid ~ 12 kilometers in diameter
Impacted the Canadian Shield 1.85 billion
years ago. The impact left behind shatter
cones and produced one of the Earth’s
oldest and largest impact structures, the
~200-250 kilometer-wide Sudbury

crater in Ontario. The crater hosts one

- 2

oy

P e S

Trig first euxaryotes were sirigle-celled orgainisens witn distinct nuclel. Toclzy,

sueiryotes rizive evolved into cornplex orgarnisens, includirig) furigl, prosts,
f

f

olanits, anid ainirnals. Proxaryotes, like Dzicteria), nave 2 serzll aienournt or DNA,

— = - =t = - — T 3 contained Insingle, reund CAremosemes. Eukaryotes Rave DINA erganized =
— s s — e D Sl — e - InMUItpl€ cAremosemEes and contdinedin boui d/ nucieus and mitochonadra.
—— - = = i = —— : —_— P ——— S — -~ Ihese organisms can |
e _— e e —_—— e = T = e e 9y sxcrizirigfiric] DNA Y
= —_—— . - S — e S S —_—— S Za S — - cElyresulunginiighed)
-~ e T = — — = - e — e e = __ = - CIVETSIty dndimeore
. e — —— . = e e S e e — o =

1700 million years ago 1800 million years ago 1900 million years ago 2000 million years ago 2100 million years ago




